

129)

$$47 - 25 - (-45) - 46 + (-55) + 1 + 10 \times 1 =$$

130)

$$2 \div (-1) + 35 \div (-7) + (-3) \times 2 \times (-2) \div 4 =$$

131)

$$0 \div (-7) \times 7 - 50 \div 2 \times 0 \div (-16) \times 8 =$$

132)

$$12 - (-32) + 7 \times 5 - 6 \div (-2) + 2 \div (-1) =$$

133)

$$12 - (-4) + 26 - 99 - 3 \times 0 + 0 + (-7) =$$

134)

$$18 \div (-6) + 0 \times 4 \div (-97) \div 10 \div 7 \times (-31) =$$

135)

$$2 - 86 - (-6) \times 0 \times (-2) + 14 + 99 - 60 =$$

136)

$$36 \div 9 + 4 + 6 \times 0 \times 46 - (-19) + (-63) =$$